

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/13/2025 2:04:25 PM

			General De	etails				
Parcel ID:	275-0010-00	226						
		Le	gal Description	on Details				
Plat Name:	BREVATOR	ł						
Section T		ownship	F	Range	I	_ot	Block	
	2	50		17		-	-	
Description:	S 450 FT O	F E 1/3 OF G.L.1		ataila				
Taxpayer Nam	e PROUTY HE		Taxpayer D	etalis				
and Address:	4665 VIBER							
		IN 55779-9760						
			a b	••				
Owner Name	PROUTY HE	NRY F ETUX	Owner De	tails				
		Pay	able 2025 Tax	Summary				
	2025 - N	let Tax			\$2,727	.00		
	2025 - S	pecial Assessme	al Assessments \$85.00					
	2025 - Total Tax & Special Assessments \$2,812.00							
		Curren	t Tax Due (as	of 5/12/2025	5)			
	Due May 15 Due October 15 Total Due							
2025 - 1st Ha	alf Tax \$1,406.0	2025 - 2	2025 - 2nd Half Tax \$1,406.0		6.00 2025	- 1st Half Tax Due	\$0.00	
2025 - 1st Ha			2025 - 2nd Half Tax Paid			- 2nd Half Tax Due	\$0.00	
		_					· · ·	
2025 - 1st Ha	alf Due \$0.0	2025 - 2	2025 - 2nd Half Due \$0.00 2025 - Total				\$0.00	
Duou outur Arlahu			Parcel Det	ails				
Property Addro		T RD, SAGINAV	/ MIN					
Tax Increment								
Property/Home		ENRY F & JUDY	,					
		Assessme	ent Details (20	25 Payable 2	2026)			
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$28,200	\$204,000	\$232,200	\$0	\$0	-	
207	0 - Non Homestead	\$12,100	\$82,300	\$94,400	\$0	\$0	-	
	Total:	\$40,300	\$286,300	\$326,600	\$0	\$0	3251	



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/13/2025 2:04:25 PM

			Land Det	ails		
Deeded Acres:	4.55					
Vaterfront:	-					
Vater Front Feet:	0.00					
Vater Code & Desc:	W - DRILLED WE	LL				
Gas Code & Desc:	-					
Sewer Code & Desc:	S - ON-SITE SAN	ITARY SYST	EM			
ot Width:	0.00					
_ot Depth:	0.00					
The dimensions shown are n	ot guaranteed to be su	rvey quality.	Additional lot in	formation can b	e found at tions, please email Property ⁻	ax@stlouiscountymn.gov
	<u></u>			ails (HOUSE		<u>an concentration of the second s</u>
Improvement Type	Year Built	Main Flo		ross Area Ft ²	-, Basement Finish	Style Code & Desc
HOUSE	1997	1,14		1,710	-	1S+ - 1+ STORY
		Width		Area	Founda	
Segment	Story		Length		rounda	
BAS	1.5	30	38	1,140	-	
OP	1	4	6	24	-	
OP	1	6	38	228	-	
OP	1	10	36	360	-	
Bath Count	Bedroom Cou		Room Co	unt	Fireplace Count	HVAC
2.25 BATHS	2 BEDROOM	S	-		- (&AIR_COND, ELECTRI
	I	mprovem	ent 2 Detail	s (22X30 HC)US)	
Improvement Type	Year Built	Main Flo	oor Ft ² G	ross Area Ft ²	Basement Finish	Style Code & Desc
HOUSE	2022	66	0	660	-	1S - 1 STORY
Segment	Story	Width	Length	Area	Founda	tion
BAS	0	22	30	660	FLOATING	SLAB
Bath Count	Bedroom Cou	int	Room Co	unt	Fireplace Count	HVAC
1.0 BATH	1 BEDROOM	1	-		· _	CENTRAL, ELECTRIC
		Improvem	ent 3 Detai	Is (ATTACH	FD)	
Improvement Type	Year Built	Main Flo		ross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	1997	1,04		1,560	Dasement i mish	ATTACHED
		Width			- Founda	
Segment	Story		Length	Area	Founda	
BAS	1.5	26	40	1,040		
LT	1	11	24	264	POST ON G	ROUND
		Improvem	ent 4 Detail	s (CREAM F	PLY)	
Improvement Type	Year Built	Main Flo	oor Ft ² G	ross Area Ft ²	Basement Finish	Style Code & Desc
STORAGE BUILDING	1995	16	0	160	-	-
Segment	Story	Width	Length	Area	Founda	tion
BAS	1	10	16	160	POST ON G	ROUND
OPX	1	10	4	40	POST ON G	ROUND
	Ir	nproveme	nt 5 Details	(BROWN M	IETL)	
Improvement Type	Year Built	Main Flo	oor Ft ² G	ross Area Ft ²	Basement Finish	Style Code & Desc
STORAGE BUILDING	2005	14	0	140	-	-
Segment	Story	Width	Length	Area	Founda	tion



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

Date of Report: 5/13/2025 2:04:25 PM

		Improvem	ent 6 Deta	ils (WHITE SHE	D)			
Improvement Typ	e Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style C	ode & Dese	
STORAGE BUILDIN	NG 1955	33	36	336	-		-	
Segme	nt Story	width	Length	Area	Foundation			
BAS	1	14	24	336	FLOATING SLAB			
LT	1	10	14	140	POST ON (GROUND		
LT	1	14	10	140	FLOATIN	G SLAB		
		Improven	nent 7 Det	ails (OLD COOP	')			
Improvement Typ	e Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style C	ode & Des	
STORAGE BUILDIN	NG 1995	1:	35	135	-		-	
Segme	nt Story	Width	Length	Area	Found	tion		
BAS	1	9	15	135	POST ON (GROUND		
		Improven	nent 8 Det	ails (8X12 SHED	0)			
Improvement Typ	e Year Built	-		Gross Area Ft ²	•	Style C	ode & Des	
STORAGE BUILDIN		9	6	96	-	-	-	
Segment Sto		Width	Width Length Area		Foundation			
BAS	1	8	12	96	POST ON (POST ON GROUND		
LT	1	4	4 8 32		POST ON GROUND			
		Improve	ement 9 De	etails (TOPPER)				
Improvement Typ	e Year Built	-		Gross Area Ft ²		Style C	ode & Des	
STORAGE BUILDIN		4	8	48	-	•	-	
Segme	nt Story	Width	Length	Area	Found	ation		
BAS	1	6	8	48	POST ON GROUND			
		Improven	nent 10 De	tails (QUONSE	Г)		,	
Improvement Typ	e Year Built	-	oor Ft ²	Gross Area Ft ²	•	Style C	ode & Des	
STORAGE BUILDIN			60	960			-	
Segme	nt Story	Width	Length	Area	Foundation			
BAS	-		-					
L	c	ales Reporter	to the St	Louis County A	Auditor			
lo Sales informa		ales Reported			luno			
		A	ssessmer	nt History				
	Class				Def	Def	Not To	
Year		A Land EMV	SSESSMER Blo EN	lg Tot	al Land	Def Bldg EMV		
	Class Code	Land	Blo	lg Tot IV EM	al Land V EMV	Bldg		
Year	Class Code (Legend)	Land EMV	Blo	dg Tot IV EM ,600 \$226,	al Land V EMV 800 \$0	Bldg EMV		
Year	Class Code (Legend) 201	Land EMV \$28,200	Bio EN \$198	dg Tot IV EM ,600 \$226, 200 \$92,5	al VLand EMV800\$0300\$0	Bldg EMV \$0	Capaci	
Year	Class Code (Legend) 201 207 Total	Land EMV \$28,200 \$12,100 \$40,300	Bio EN \$198 \$80, \$278	dg Tot EM ,600 \$226, 200 \$92,3 ,800 \$319,	al V Land EMV 800 \$0 300 \$0 100 \$0	Bldg EMV \$0 \$0 \$0	Capaci	
Year 024 Payable 2025	Class Code (Legend) 201 207 Total 201	Land EMV \$28,200 \$12,100 \$40,300 \$24,600	Bid EN \$198 \$80, \$278 \$178	dg Tot EM ,600 \$226, ,200 \$92,3 ,800 \$319, ,600 \$203,	al Land 800 \$0 800 \$0 100 \$0 200 \$0	Bidg EMV \$0 \$0 \$0 \$0	Capaci	
Year 2024 Payable 2025	Class Code (Legend) 201 207 Total 201 201 207	Land EMV \$28,200 \$12,100 \$40,300 \$24,600 \$10,500	Bia EN \$198 \$80, \$278 \$178 \$54,	dg Tot EM ,600 \$226, 200 \$92,3 ,800 \$319, ,600 \$203, 900 \$65,4	al V Land EMV 800 \$0 300 \$0 100 \$0 200 \$0 400 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0	Capaci - - 3,166.0	
Year 2024 Payable 2025	Class Code (Legend) 201 207 Total 201 201 207 Total	Land EMV \$28,200 \$12,100 \$40,300 \$24,600 \$10,500 \$35,100	Bid EN \$198 \$80, \$278 \$178 \$54, \$233	dg Tot EM ,600 \$226, ,200 \$92,3 ,800 \$319, ,600 \$203, 900 \$65,4 ,500 \$268,	Land EMV 800 \$0 800 \$0 100 \$0 200 \$0 400 \$0 600 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capaci - - 3,166.0 - -	
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend) 201 207 Total 207 Total 207 Total 201	Land EMV \$28,200 \$12,100 \$40,300 \$24,600 \$10,500 \$35,100 \$27,900	Bio EN \$198 \$80, \$278 \$178 \$54, \$233 \$190	dg Tot EM ,600 \$226, 200 \$92,3 ,800 \$319, ,600 \$203, 900 \$65,4 ,500 \$218,	Land EMV 800 \$0 800 \$0 300 \$0 100 \$0 200 \$0 400 \$0 400 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Net Ta Capaci - 3,166.0 - 2,665.0	
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend) 201 207 Total 201 201 207 Total	Land EMV \$28,200 \$12,100 \$40,300 \$24,600 \$10,500 \$35,100	Bid EN \$198 \$80, \$278 \$178 \$54, \$233	dg Tot EM ,600 \$226, 200 \$92,3 ,800 \$319, ,600 \$203, 900 \$65,4 ,500 \$218,	Land EMV 800 \$0 800 \$0 300 \$0 100 \$0 200 \$0 400 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capaci 3,166.0 2,665.0	
	Class Code (Legend) 201 207 Total 207 Total 207 Total 201	Land EMV \$28,200 \$12,100 \$40,300 \$24,600 \$10,500 \$35,100 \$27,900	Bio EN \$198 \$80, \$278 \$178 \$54, \$233 \$190	dg Tot EM ,600 \$226, ,200 \$92,3 ,800 \$319, ,600 \$203, 900 \$65,4 ,500 \$268, ,500 \$218, ,500 \$218,	Land EMV 800 \$0 800 \$0 100 \$0 200 \$0 400 \$0 400 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capaci - - 3,166.0 - -	



St. Louis County, Minnesota



Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV			
2024	\$2,491.00	\$85.00	\$2,576.00	\$32,860	\$217,238	\$250,098			
2023	\$2,011.00	\$85.00	\$2,096.00	\$25,712	\$175,563	\$201,275			
2022	\$2,199.00	\$85.00	\$2,284.00	\$25,532	\$167,014	\$192,546			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.